
Portable Basketball Hoop
User Manual



H IM8*95M10*16 M10*85 M8*25 M8*85 M8*55



wheels into the Base (#11).

place into position in the base and slide Axle (#1B) through holes 
Place the Lower pole (#6) into the top side of the Base (#11) and 

Insert Axles (#1A) into the Wheels (#10) as shown. Next press

on the bottom of the base. (Note: the holes on the pole must face 
towards the base side.)



 

Pole (#6) with Bolt, Nut and Washer (#G).
Next, lock the Lower Left and Right Braces (#2) to the Lower 

Firstly, fix the Lower Left and Right Braces (#2) with bolts, nuts and 
washers (#C) to the bottom of the base. 

C C

G



Remove the cap from the hole and fill the base with sand 
or water.
Insert the middle pole (Part 5) into the lower pole (Part 6), 
secure with screw (Part D)



 

  

 

 

 

Attach the backboard frame (Part 3) to the backboard (Part 8)  
and secure with screw (Part A).
Attach the ring (Part 7) to the backboard (Part 8) with hardware (Part H 
& I) to secure the ring, backboard, backboard frame together.
Slide the screw (Part B) through the backboard frame and  top pole and 
secure.

 

 

Nylon Insert Lock Nuts, may 
require more effort to tight. 
Please tight until find the 
ideal  spring strength for the 
rim. Normally the bolt end 
may comeout around 3/8inch.



5 Attach the net (Part 9) to the ring.



Insert the top pole (Part 4) into the middle hole (Part 5) and
 secure with screw (Part D).6




